
©s 62B011t1u gKGulttaW eS1o4fttkwtahr3ed fLMLVCv.Q t YA0lZl2 BrqiSgAhnt8sK HrmeQsne6rLvTeHd1.M H CMIatdmeT mwWiPtPhK AI cnVfHiOnaiot4e2 mAllwg8e6b6rEaC 11o.v Worksheet by Kuta Software LLC
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Standard Form

Write the standard form of the equation of each line.

1)  

  

y

 

 = 

  

−

  

x

 

 + 5
2)  

  

y

 

 = 

   

1
4

  

x

 

 + 2

3)  

  

y

 

 = 

   

5
2

  

x

 

 − 1
4)  

  

y

 

 = 

  

−4

  

x

 

 − 3

5)  

   

y

 

 + 5 = 

 

−10(

   

x

 

 − 1) 6)  0 = 

   

x

 

 + 1

7)  

   

y

 

 + 1 = 

  

−
4
5

(

   

x

 

 + 5) 8)  

   

y

 

 − 5 = 

  

8
3

(

   

x

 

 − 3)

9)  

 

−3 + 2

  

x

 

 = 

  

y

 

10)  0 = 

 

−

  

y

 

 + 

  

x

 

 − 4

-1-



©G 02A0G1X1k eKcu8tEaG iS4omfotiwtaTrNeg ULLLNCg.m y LATlYlo DrxitgghDt7s2 brteYs7e8rDvIeVdv.5 n 6Mtard2eV 5wSiIt4hC 5I jn1fqiPnMimtkeB zAXlRgZeCbyrdaS 81I.I Worksheet by Kuta Software LLC

11)  

 

−6 + 3

  

x

 

 − 3

  

y

 

 = 0 12)  6

  

y

 

 = 

 

3

  

x

 

 − 6

Write the standard form of the equation of the line through the given point with the given slope.

13)  through: (0, 0),   slope = 
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14)  through: (−2, −5),   slope = 1
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Write the standard form of the equation of the line through the given points.

17)  through: (−2, −3) and (3, 2) 18)  through: (−2, −5) and (−1, 3)

19)  through: (−2, 2) and (−5, 5) 20)  through: (−3, −1) and (2, 5)
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Standard Form

Write the standard form of the equation of each line.
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Write the standard form of the equation of the line through the given point with the given slope.
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Write the standard form of the equation of the line through the given points.

17)  through: (−2, −3) and (3, 2)
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